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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal wilt be removed two minutes before the
commencemeni of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), {¢) and {d). The candidate will have
1o select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

lllustration:

1. Thesum of 20 and 12 is

(a) 32(b)38(c)31(d)34

The Correct answer of item 1 is (g), which should be
marked in OMR Answer Sheet as under:

000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Use of calculator/mobile/any electronic item/
objectionable material is NOT permitted,

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.




. The arrangement of terrain features which
provides attributes: the shape, size and texture of
objects, is called:

3. Spectral variation
b. Spatial variation

c. Temporal variation
d. Radiometric error

. The number of Sulphate ions present in 100 m| of
0.001 M H,S0, solution is
a. 6.022x10"
b. 6.022 x 10%
¢ 6.023x10%
d. 6.023 x 10%

. How many grams of carbon dioxide will be
formed when 100 grams of CHy is burned in
oxygen?

a. 122 grams
b. 244grams
c. 488 grams
d. none of these

. A5.00 mL sample of solution has 2.8 x 10 g of
calcium ions. The ppm concentration is
a. 18 ppm
b. 56 ppm
c. 28x10" ppm
d. 2.8x10° ppm

55. In comparison to a marshy wetland, the redox
potential of a ploughed field is

a. Higher

b. Lower

c.  Equal

d. None of the above

56. Montmorillonite is a clay mineral of

a. 1:1type
b. 2:1type
c. 3:ltype
d. 4:1type

57. Which state of india has the highest wind power-
based electricity installation?

a.  Madhya Pradesh

b. Gujrat

€. Rajasthan

Tamil Nady

e odd tombination of the habitat and
animal concerned
s — Bengal Tiger
Elephant
-Rann of Kutch - Wild Ass
Dachigam National Park - Tiger
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. Which of the following analytical instruments js
based on the principle of Atomic emissions
Spectrophotometry?

a. lon chromatograph
b.  Flame photometer
€. X-Ray diffractometer
d.  AAS

The population of India is 15% of the world but its
annual energy consumption is only

a.  0.2%

b, 2.0%

c. 10%

d. 25%

Which oxide of nitrogen is not a common
poliutant introduced into the atmosphere both
due to natural and human activity?

d. NzOs
b. NO;
C. Nzo
d. NO

Find the incorrect Statement
a. BOD value of clean water is less than 5 ppm
b.  Drinking water pH should be between 5.5-9.5
C. carbon, sulphur and nitrogen oxides are

the most widespread ajr pollutants
d. dissolved Oxygen concentration below 5

ppm is ideal for the growth of fish

How does atmospheric pressure vary with
increase in altitude?

a. It decreases linearly

b, Itdecreases exponentially

€. ltincreases linearly

d. ltincreases till stratosphere and then
starts decreasing exponentially

What is high pressure area with sinking air also
known as?

a. Cyclone

b.  Anti-cyclone

€. Eddyzone

d. Richardson zone

Identify the bacteria not found in human excreta
that causes Bastrointestinal diseases.

8. Staphylococcus aureys

b.  Escherichia coli

C.  Streptococceus faecalis

d. Shigella

At what time of the day relative humidity in the
environment js gt minimum?

a.  When the air temperature is lowest

b.  Before sunrise

c.  Midnight

d.  When the ajr temperature is higher
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In which year the "project tiger" is launched in
India?

a. 1973
b. 1983
c¢. 1983
d. 1972

Earth summit of Rio de Janeiro (1992) resulted in
a. Compilation of Red list

b. Establishment of biosphere reserves

c. Conservation of biodiversity

d. IUCN

On a clear, calm, night, the ground and air above
cool mainly by this process:

a. Reflection

b. Convection

¢. Evaporation and Conduction

d. Radiation

As the air temperature increases, with no
addition of water vapour to the air, the relative
humidity will:
a. Remain the same
b. Increase
c. Decrease
d. Increase until it becomes equal to the
dew point temperature

An important reason for the large daily

temperature range over deserts is:

a. Thereis little water vapor in the air to
absorb and re-radiate infrared radiation

b. The light-colored sand radiates heat very
rapidly at night

c. Dryairis a very poor heat conductor

d. Free convection cells are unable to form
above the hot desert ground

Infrared and visible satellite images might provide:

a. A way of determining cloud thickness
and altitude.

b. A way of distinguishing between wet and
dry clouds.

c. A way of identifying clouds suitable for
cloud seeding.

d. Away of distinguishing between "new"
and "old" clouds.

A term biotype means

a. allindividuals having same phenotype
b. all individuals having same genotype
c.  allindividual with different phenotype
d. allindividuals with different genotype
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Which of the following is least likely to be an

effect of globaj warming?

3. Increased frequency of hurricanes

b. Lossof fertile delta regions for agriculture

C.  Decreased rate of photasynthesis i vegetation
d Change in global patterns of precipitation

In chromatogram, the area under the peak.can ba
used o determine which of the following?

8. Components of the sample

b.  Amount of component in the sample

¢ Column efficiency

d. Column resolution

Fuel used in the ICP-0ES is?
a.  Hydrogen gas

b, Air-acetylene

C. Argon

d.  Methane

Which of the following is sued as radiation source
in infrared Spectroscipy?

2. Deuterium arc lamp

b. large target cathode

¢ Tungsten lamp

d.  Nernst glower

Which type of Quantum Transition takes place in
Infrared spectroscopy?

2. Rotation of molecules

b.  Nuclear

€. Bonding electrons

d.  Spin of nuclejin a magnetic field

Which of the following is not true about

Absorption spectroscopy?

a. Itinvolves transmission

b. Scattering is kept minimym

€. Reflection is kept maximum

d. Intensity of radiation leaving the
substance is an indication of a
Concentration

Beer Lambert’s law gives the relation between
which of the following?
a. Reflectad radiation and concentration
b. Scattered radiation and concentration
€. Energy absorption ang concentration
d. Energy absorption ang reflected
radiation
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In which of the following ways, absorption is 81. Fwfea ¥ & B o0 &, sreiioer S & gdfim 372
related to transmittance? a.  SEeor EROr T T &
a. Absorption is the logarithm of transmittance b.  srarefvvT T T TrCe R &
b. Absorption is the reciprocal of transmittance C. ST ST T AT Sregrorss &
C. Absorpjcion is the negative logarithm of 6. s T T I e
transmittance .
d. Absorption is a multiple of transmittance
If the probability that an object dropped from a 82. afx ux AT &= ¥ Al awg F sofiw & ey it
certain height will strike the ground is 80 percent stRrsar 80 ST & R AfX 12 g o S e
and if 12 objects are dropped from the same Firey P o £, 47 e e T ERAN
nlace, find the mean and variance.
a. 9.6,1.92
a. 9.6,1.92
b. 8.6,1.92 b. 86,3 92
c 96182 c. 9.6,1.82
d. 8.61.82 d. 8.6,1.82
Binomial Distribution is a 83, RRus fmw s 2
a. Continuous distribution a  Trigc BT
b. Discrete distribution b, erged Brawr
c. lrregular distribution Ryt £
d. Nota Probability distribution c

d. e srfar faer T

If the probability of hitting a target is 0.4, find the 84, afe fodt 9o &7 9T & wfisar 0.4 €, oF wiew &%
mean and variance [EEsUEICEIEE
a. 0.6,0.28 a. 0.6,0.28
b. 0.6,0.24 b. 0.6,0.24
'c. 0.8,0.22 c. 0.8, 022
d. 0.8,0.20 d. 0.8, 0.20
In @ two tailed test when a Null Hypothesis is 85 o I 97 TS0 F < Ueh Qg THhenT &t U gt
rejected for a True Alternative Hypothesis then it ARt TREeaT & for sreefe < s o star & o gai
has __ garg
a. Typelerror a. =Tl gl
b. Type2error -
¢. Noerror b. e 2 gﬁt
d. Manyerrors c. FEFRd
d. % =it
In a Poisson Distribution, if ‘n’ is the number of 86. T uizas faawor §, =i 'n' odterait it g7 g i p'
trials and ‘p’ is the probability of success, then the TRAT il ATFAwAT §, 7 AT HIW e g et war g7
mean value is given by? a m=np
a. m=np b. m = (np)
b m=(np)’ c. m = np(i-p)
c. m=np(l-p) ' P
d m=p d. m=p
Find the variance of the given data sets R7. Ry wu Ty ¥z 7,47,8,42,47,95,42,96,3 = =< 7@
7,47,8,42,47,95,42,96,3 EniEe
a. 1028.78 a. 1028.78
b. 1018.78 b. 101878
c. 1029.78
d. 101978 c. 1029.78
d 1019.78
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Which of the following is not included in the In-
situ conservation?

a. National Park

b. Botanical Garden

¢ Wildlife Sanctuary

d. Biosphere Reserve

A statement made about a population for testing
purpose is called?

a. Statistic

b.  Hypothesis

€. Level of Significance

d. Test-Statistic

The total water available is known as Hollard, The
total water available to plants is known as?
a. Echard

b. Hollard
¢. Chresard
d. Delta

Saline soils are reclaimed/managed by:
a. Addition of gypsum

b. Leaching

c.  C. Addition of lime

d. Bothaandb

Hydrogen bond found in which clay mineral
2. Kaolinite

b.  Montmorillonite

c.  Vermiculite

d. Beidelite

How much has CO, in the atmosphere increased
since the Industrial Revelution? In the 10,000
years before the Industrial Revolution in 1751,
carbon dioxide levels rose less than 1 percent.
Since then, they've risen by:

a. 11 percent

b. 49 percent

€. 62 percent

d. 56 percent

How has the global average temperature changed

since the Industrial Revolution?

3. Warmer by 0.5 degree C

b.  Warmer by more than 1 degree C

c.  Warmer by almost 2 degrees C

d. The temperature has gone up and down,
but remains overall the same
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95. When was the last time in Earth's history that

CO2 was as high as it is now?

a. This is the highest it's ever been

b. CO2 was at least this high during the
warm periods between the ice ages

c. CO2 has not been this high for almost
one million years.

d. The last time CO2 was this high was 3
million years ago.

06. How long does CO, remain in the atmosphere?

a. (O, washes out of the atmosphere
seasonally.

b. CO, remains in the atmosphere for 5-10
years.

c. €O, remains in the atmosphere for up to
200 years, or more.

d. CO, remains in the atmosphere for up to
125 years, or more.

97. How fast to we need to stop burning fossil fuels
to limit global temperature rise to 2 degrees C?
(3.6 degrees F)

a.  We need 1o stop burning fossil fuels by
2100.

b. We need to stop burning fossil fuels by
2040.

c. Fossit fuels don't matter, the Sun will
cool and so will the Earth.

d. It's already too late to stay below the 2-
degree threshold. We should have

stopped burning fossil fuels in the early
2000s,

0§ Biotic potential is counteracted hy
a. Competition with other organisms
b. Producer is the largest
c. Limitation of food supply
d. None of the ahove

99. What phenomenon occurs during an ecological
succession?

a.  All species disappear

b. All species survive

€. Some species grow while other species
decline

d. Species grow at the same rate

100. Which factors influence a biotic community?
a. Biotic and chemical factors only
b. Biotic and geographical factors only
¢. Biotic, physicochemical and geographical
factors
d. Geographical factors only

95, T & Thgw ¥ anferdy s dfish 2 ST afds o, wo T

T =T AT?
a. 9% 99 9% H 99 FHT @I Bl
b. @2 Regnddia e S s s
EGEIR-IPER
c. el 2 TTVAT 9 ST FNT § FAAT ST TR T Al
Td. fredracdisr2 3 i e o s

sferer ol

96. CO, arvi=a # 55 7% war &7

a.
b.
o

CO, HTeHT &7 ¥ ITgHE & el diar 21
CO, 5-10 96T TF argH=« & Tgar g
CO, 200 el AT 999 1fd 7w g arpes §

T &l
CO, 125 |Ter AT I8 STT8F THY G qTqeed §

AT gl

Q7. &P araATe gig #1 2 fsft afeqws o e 7 % R
g8 Strare So9 sa & T it Rt &0 & sraegar

§? (3.6 =i wrmEe)

a. g 2100 9% Sfarew o stermey & Ty T
AragHaT gl

b. H 2040 & STATeH S FIT o€ HLA 6
SEL g

c. Sfrare o F1S % T wmar, g duTEem Ak
7T o

d. 2 Rffrdmafe e i i faga e

bt g1 g 2000 F Zers it et § sftered Sarer

ST 9% FY 3T AR 471
98. =ifa eraT (Biotic potential) T widssre fva strar 2
a. W ST % 9T graery
b. wE¥ 92T IHEF &
C. W= S =¥ FT
d. STUFH T FE TG
99, giftfRafis il (ecological succession) ¥ T
T AT gidl 27
a. g9 yenfd=i o g Wt
b. a¥f wefewt hifg wd T €
c. T VaTfaat audl  stafF s/ y=iaat § fee

AT g
TETIIAT U &Y 8% & et §

100, %t & Fres St = (biotic community) &t warfe

T 57

a. g ST ST THTEE TS

b. = afEa® @ dvis s

c. Sifgsw, Wfas wamEes sk dhnRe v
d. el SR $16



